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SECTION-A
(OBJECTIVE TYPE QUESTIONS/
MULTIPLE CHOICE QUESTIONS) | each

}/ In determinant

cofactor of -2 is !
(A) 6
(B) 3
) 35
D) -6

2 For a square matrix A. A(adj A) = (adj A) A = e
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(2)

3. Oider of differential equation ;

P2
I+ (-d—‘—J = d—.:
dx dx-

1s :

(A) 3

(B) 2

1

(D) 4

¥ Derivative of (o8 sin « ;o .

(A) sin x

(B) cos x

(C) sec x

(D) tan x

/ Number of points of disconlinuily of the function :

|
f{x]:-___
.\'-5"”5

IS :

(A) 1
(B) 2
(C}_ 3
(D) 5
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.

3.

10.

( 3)

b

v

I Ae dv s equal 10 ¢ + 0
X

The function fix) = 3y + § js increasing for

Direction cosines of y-axis are
AA) 1.0, 0
(B 0. 1.0
() 0. 0.1

(D) 0. 0, 0

A A L

Magnitude of Vector i+ 25+ 3k is :

|
(A) ?l--t'

B J14
) 1
(D) 10

Define objective funcuon.
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SECTION-B
(VERY SHORT ANSWER TYPE QUESTIONS) 2 each
M. Check the njectivity and subjecuivity of the function f : 7 = £ given

by fix) = ¥

12. Find the pnncipal value of

-4

13. Prove that the logarithmic function is strictly increasing on (0, x).

A A A

4. Find the projéction of the vector i+3j+7k on the vector

A A A

7i - j+ 8k. https://www.jkboseonline.com

15. Find a ununt vector perpendicular 1o each of the vector _.;+B’ and

a5 - A A A - A A A
a—b. where a=3i+2j+2k and b=i+2j-2k,

16. Find :
I (lanf_;x)2 d.
17. Evaluate :
j-l dx
0 |- 12
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(5)

18 It

P(A)= 3

5

and

P(B)= )
S

find LA A~ B) |
)if A and B e independent events.

19. Evaluate P(A U B) if 2P(A 3
5 and P(A/B)

Wi

¥. Show that the marrix -

IS @ Symmetnc matrix.
SECTION-C
(SHORT ANSWER TYPE QUESTIONS)

. Find the general solution of the differential equation :

4 each

I xﬁ+v=glogx
xlogx—-+v=7 :

!

E
b

. Evaluate :
sin X

J-TIIZ dx.
0 ;;sin X+ :;cos X
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31. If
. _,| _'—
v =Vag' ! v = Vg !
show that :
dy__r
dx X

yf Find the shortest distance between the lines :

A A

':'-'=(f+2j+k)+).u'-j+&')

and
F=2i-j-kyep@iefeak
(25 1f
;:2:+2}+1£ 3=-:+2}+£
and
?=3;+;
are such that :
;+13

is perpendicular tv ¢ |hen find the value of A
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(7))

:b- Salve lhc ]inea‘[r pro rammi

Mininuze & = -3, + 4y

subject to

x20,y20.

-

r .
i Show that the relation R in the set Z of integers given by

R = [ta. b) : 2 divides a = b} is an equivalence relation.

f&'. A bag contains 4 red and 4 black balls. another bag contains 2 red
and 6 black balls. One of the two bags is selected a1 random and
a bull is drawn from the bag which is found to be red. Find the
probability that the ball is drawn from the first bag.

SECTION-D
(LONG ANSWER TYPE QUESTIONS) 6 cach

0

0
. - l.

verify A (adj A) = (ad) AA = A
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Let :

3 7 6
A= and B:
[2 5] [7

verify (AB)™! = B! A-!

30. Evaluate :
1
I—l Sx* st + | dx.
Or-
Evaluate :
J' (3x -1 dx

(x-D(x-2)(x-3)

31. If y = Ae™ + Be™, show that :

dzy
de

Or
Differentiate w.r.t. x :

(log x)* + x'8 *.
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